googoouodbooboobood

2002MMO022 OO0 OO
oooo

1 0000

cobodooooooooobo,0cobobocobooooa
gooooooooob,0bobooooooboo,o00on
gbooooboobooboooboooooboooooon
go,00000000000O000cO0b0oO0ooo0oon
goboooooooooboocoobooooooon.

2 Black-Scholes 0 0O O

21 00000

OO000o00,00000000000 Tayloro OO
oooooooooo,b0bobooboooboooooon,
oooooboooooobooboco, 00000000000
goboooooooooocooboooon.
goooooooooood %DD,DDDDDDDD
o, 000000000 pODDOO

% = 0dX + pdt (1)

ooo0.0()oooooo
dS? = (0SdX + pSdt)?
= o2S5%dt (2)

0(2)00 (1)0o000o0o0

f 2 d*f
daf L 22 f
o5 SedX + (n EJF* 52055 ) dt

goo.0ooobooobuoo,bogbuooobboo

o0o,0000000000000000C0O0O0O0

ooooo.

2.2 Black-ScholesO O OO OOOOO
goooooooobooooodgao S(t)[l[ll:ll:ll]

ood

as(t) _

000D0oOoooo.oo S

/—dS

goo.oooooo logS(
S(t) = S(0)ert+oX

t>0 (3)
)Oooooooooooo

/udt+/0dX

yooooooo

0o000.000,0000 3)00Do
S(t) = S(0)eln e IkoX

goo.

2002MMo87 O O OO
oo o

3 J0bOooooog

31 000000000000
gogoobobboboooooobobbbooooouooo
gobooooooob rD

dr = w(r,t)dX + u(r,t)dt (4)

000000000000000000000,w(r,t)0
u(r,t) 0000000000000 +000000000,
00000000000000,00000000 Black-
Scholess 000 O0O0OO0DOOODOOO,000000
oooooooo.

000000 7Ty, 7,000000000000000
00000D0.000 3, >000000 WB,O0O0O
0,000100,0000 ADOOOOOOOOOO0O

goboo,jgbooboboobooooo
M=V, - AV, (5)

gogo.0bbooobooobbooobobbooobo
oeb:t00bo0ooobooboobbon

2

vy = Mg M9 Vl L(dr)? + K(t)ydt (6)
ot or

dVy = Ve + oV + (dr)2 + K(t)dt (7)
ot or

ogoooooo
oV oV 1 ,0°W
M= —tdt + — - K
d oy At + 5 dr + Gwt o dt + K(t)dt
OVy OVa L 502 v

avy

d00000.000 ()00 A=F 0000,dIIO
or
goboooooooooooobo.oooo

_ (v

L
2 or?
Gk (avz

+ K(t)
1 26 V2>>dt
2" o2

000wV, 0OOOOO0oOoooooooo

AVy
or

= rlldt

(8V1+7 26827517TV1+K(75)) (8V2+7 26;5277"/2+K(t))

vy OVy
or or




goo.oobobooooooog,bbbbbbbbb
ooooooooooooo,vooooooo

1ol o2
(%Y + 3w &Y —rV + K (1))
oV
or
00000,0000000a(r,t)D0000O0DO0O,O
gooobobobo

= a(r,t)

a(r,t) = w(r, t)A(r,t) — u(r,t)

gogo.0bboobbooobobooobbooobo
gd

Vir,T)=2

00000.00000 u(rt)0 w(r,t) 0000000
000,00000000000000000.00,00
000000000000000KOOOOOOO rO¢
000000000000000000000

V1 L,V v B
good

32 00000000
oo0oooOoooOooooooooo,0goTOOO0
100000000,0000dt00,00000000O

v v 1 ,0°V 9V
ooo.od (9)D|:| (10)|:|[||][||]|:|
dV:wa—VdX+ wAal+TV dt
or or
ooooooooooog.
dV—rthzwg—‘:(dX—/\dt) (11)

000.0 (1) 0 dX 000DO0o0ooo,000000
goooooo.obocoooooocoboocoooooon
ooooo0oooO0oooooo0o00. 000000 dx
000 MdtO0O0OQ00O000OO0O0O0oOoOoogooooo
ooo0oooo0,000000 ADO0O0O0O0DOO0OD
goboooooo.

33 000000000

ooooooooooddn wiO w0O

w(r,t) = va(t)r = B(t) (12)

u(r,t) = —y(&)r + n(t) + A(r, t)/a(t)r — B(t) (13)

0oooooooooo.
00,00 a,Byp,A00000000,0 (12),0 (13)
00 (9) 000000

ov 1 0?V

o + i(a(t)r - ﬂ(t))w

+Fﬁ@ﬁ+ﬂ@»%¥—rv+l(:0

goodoodoo
V(r,t) = ZeA D BET) (14)

00000.0000000000.0 (14000000
00 (9oooooo

A 9B 1 , ,
E—rgﬁ-in —(u—=Aw)B—r=0 (15)
O00.A0 BOtO TOODOOOO,wO wO ¢0 r0O

000o00.0 (/)0 r00000DO0OOO,BOODOO

1 _0%(w?)  0*(u— Iw)
§B orz or? =0
ooo0.BOTOOOOOODOO
*(w?) 0 9% (u— Mw) 0
orz 7 or? B

02000000000000000000.
000 (12)00 (13)00 (15 0000,,00000
00000000000 A0 BOOOOOOO

22— w8+ 380 (16)
%]f - %a(t)BQ (BB -1 (17)

00000.0000 V(T)=200
At;T)=0,B(t;T) =0

O00.00,0=000,00000 Vasicek 000
0,6=000, Cox,Ingersoll&Ross 0O O OOO0OODO
goooobobboboboboboooooooooogoooo
goooao.

4 OO0OOODOOO0

41 00D0DOOOO(0DO0D00O0O00)
0000000000000000000000,00
0000000000000000000.000000
0000000000000000000.
42 000000000000
00000000000,0000000000000
0,0000000000000. 000 #(),0000
000 K() 000,000 ZO0OOOOOO0O 000
00 V(@#)Doooo

ww=e7ﬁﬂﬂw<z+/TK@dijwgu&

000.00000000D000 V(T)O ZooOooo
gboboboobo.obooooooooooo,oosgn
goooooooooooog.
goooooooooo,oboobooocoooooo,
gobooooobooooooooooboooboooOooon
goooocoooo.



5 OJ0bOOoOoboOooooo

51 00000000000
00000000 +()00000 POOODOOODO
000000 (19000.

dr(t) = u(r(t),t)dt + w(r(t),t)dz(t) , t>0 (19)
52 0OOO0ODOOOO

0000 w(r$) 000000000 +()0 10 (00)
gooboobobo

u(r(t),t) =a+prt), a>0 <0 (20)

000.00,00000000000000,(H)00D0O
goobood

dr(t) = (a+ pr(t))dt +or(t)"dZ(t) , t>0 (21)

gooooooooa.
5.3 Vasicek DO DO
B#0y=00000 (21)00

dr(t) = (a+ Br(t))dt + odZ(t) , r>0 (22)
0 (22) 0000000000000, 000000
OU(Ornstein-Uhlenbeck) D OO DO OO, O (22) O
od

r(t) = -2+ (r(O) + O‘) P to / "B az(s) (23)
B B 0
00o0O000O0000o.
5.4 Cox,Ingersoll & Ross (CIR) DO DO
00000000000000O00O0O000000
y=i000000000000.0000 (21)00

dr(t) = (a+ Br(t))dt + or\/r(t)dZ(t)  (24)

000.0000000000000 r(t)DODODOO
O,¢)000000000000DODOOOO.
55 OOO0OOOOODO

0 (21)0000~=1lLa=00000000000D0O
0000 (Black-scholes0OO)O00OO

dr(t) = Br(t)dt + or(t)dZ(t) , t>0  (25)

00000.0 (25) 00000000000

02
H(t) = r(O)e o0 y=p- T (20)

000.0000000 Black-scholesOOOOOOOO
000000000000, Black-scholes 0O OO00ODO
oooo.

6 0000DOO0O0OO00OODOO

61 00000000000

00000000000,000 a,6y,y000000
0(16)00 (17)000000000000000000
0000.0000

gA = a9 log(a — B)
et

(2 — 5A)blog((B+b)/b)+ 5 B-aysloga
2(e¥1(T=1) _ 1)
O+ (T — 1) + 20

B(t;T) =
000.000 abiha,000000000.

b,a

)

Ty +/V2+2 2
_It a’YJr Oz’ 1 = /772+2a, Z/}27T)Jrcv,6’/

 a+b

6.2 0000000000

000oooo0oooo0ooog aBy,n000.
oooooooooooooOoOoOoOoooUoooD,AO0 B
gooboooooobooo,oooobooocooobooocoon.

coo,0000000b00b00boooO,00b0oo0o
goooooboooooooocooooboooooo.oo
oooooobooooOo,0o000o0ooboooboooon
gooooboooooobo.cooooooboooobooon
goooo,0ocoboooooooooboobooooooon
goooocoooo.

7 dobooon

71 0000000
000000 Ve(rt;Tp) 000000000,V 00
00000

+ (u— )\w)% —rVp =0(27)

B 2 B
67

ot 2V o2

0000.00000000 Ve(r,Ts,Tg) 00,000
00000000000.00000000000000
Cp(r,7)000.Cp(r,7)00 (27)0000.00,00
000000000000000,00000

Cp(r,T) = max(Vp(r,t;Tp) — E,0) (28)

gooooooao.

72 0O00O0O0O
ooobooobobooooboboo,oobobooon
go00dooooooobooboOooo.obooboon
godddooooooooo,oooooo

oV 1 L0V

oV .
E_‘_iw W—&—(u—/\w)ﬁ—ﬂ/—i—(r—r )=0

0,000000 V(,T)=0000.



73 000O0O0OO0O

00000,000000 (COoODODOoOooOOo)r*0o
Ogo0ooo0oOoO0oooo0oooooooooooo.oo
goooooo

oV 1 L,V

ov : " _
E—’_ﬁw W—i—(u—)\w)ﬁ—ﬂ/—i—mm(r,r )=0

0000.000000000 V(r,T)=1000
000000000 ~#00000000000000
0000000000000000.
74 0000000,0000000,000000
0000,0000,00000000000,0000
000000000000000000000.0000
000T<7Ts00000 EOOO0OOOOOO0O (OO
00000O0)000 V(rnt)0oooooo
AV 1 L0V oV

5 T3V 52 +(u—)\w)E—TV:O

gbogob.obooboooboobooboboboon.
V(r,T) =max(Vs(r,T) — E,0)

coobooooooooooooooooboooooo
goboooooooooooooooooooooon
goboboooobooobooooooooooooon
ooo
75 0000000000000

00 Vasicek 00O ODOO0O0OO0OOO0O0OODOO,000

goboodbo,ogboobuoobooboobooooo.

00,0000000(s) 0 (0.0100.50) 00000
00000000000000000000000.

xxxxxxx

sssss

01 OO0000b0esO000O0O0DOOOOOOOO

gooooooooobooooooocoooboboooooon
UeocOO00O0O0O0COCOOOOOOOOOOODOOOO
ooooooo0,,004000000000000,00
040000000D000COCOOOOO0OOOODOOO
goooo.

OO0 cO00D0O0O2000000000000000
gobo,b0bo000booooobocoooocooooogd.

00000 (7)) O (0.0400.06),(0.0100.99) 0000
000000000000000000000000.

02 0O00-0000000000000
000r00 0.168(16.8%) 00 0000,000000
go0oo0oopoDOooDooDoDOopooo ooooooo,on

oooooDo -0 01680000000000000O
gooooooo.

00,0)3000 (s)0 (0.0105.00) 0000 ,(0)00
00000 (7)0 (0.0101.00)00000000000
00000000000000000.

uuuuuuuuuuuuu

03 (0)00 s000000000000
0,0)00007T0000000000000
000(0)000000 (T=1)00000000,s>7T
000000000000000000000,s<7T 0
0000000000000, s000000,0000
00000000000000000000,00000

07000000000,
(0)T00000000000000000000000
0000,00 s00000000000000,000
000000000000000000.

8§ OOUnOO

cobooooboocOooooooocooo,cooo0oo
gooboobobooo,bobooboobooboao,baon
goooooooooooooob,boooooboooon.

9 OO

gogoooobbobboboooooooooboboboboo
goboob,goboobooboobooboobn.

ggoo

[1] Wilmott,P.,S. Howison,J. Dewyme: 000000
00000, 0000,(2002).

2l 0000: 000000000 0O0DO0O0O0OO, 00
00 ,(1999).

[3] ogbodooooobuoobooo: ooobobuooo
00030 00000,0000000,(1996).



